Giovanni Anastasio
Question of the Day: Two Tunes to Play With

Melody 1:
1. Grouping and Dictionary:

( G4i G4i Adq G4q C5q B4h )( G4i G4i Adq G4q D5q C5h ) (G4i G4i G5q E5q C5q B4q
A4q) (F5i F5i E5q C5q D5q C5h)

a. G1:G4i G4i A4q G4q C5q B4h
b. G2: G4i G4i1 A4q G4q D5q C5h

c. G3: G4i G4i G5q E5q C5q B4q A4q
d. G4: F51 F51 E5q C5q D5q C5h

2. Tree Structure:
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3. Encoded in Clay:
a. P1=G1G2
b. P2=G3 G4
c. M=P1P2


https://www.lucidchart.com/documents/edit/f049dcb9-148e-4d24-b841-32a4dfe5f458/0?callback=close&name=docs&callback_type=back&v=245&s=612

Melody 2:
1. Grouping and Dictionary:

(C1/E1/G2G1/2\F1/2\E1/2\D1/2\C2) (D1/2D1/2\B1/2\ G1/2/ G1/2\E1/2\ C1/2 /)
(D1/2D1/2\B1/2\ G1/2/ G1/2 G1/2\E1/2\ C1/2) (C1/2/D1/2 / E1/2 / F1/2 / G2 G1/2\
F12\E1/2\D1/2\C2)

G1: C1/E1/G2
G2: G1/2\F1/2\E1/2\D1/2\ C2
G3:D1/2D1/2\B1/2\ G1/2/ G1/2 G1/2\E1/2\ C1/2 /
G4:D1/2D1/2\B1/2\G1/2/ G1/2 G1/2\ E1/2\ C1/2
G4:C1/2/D1/2/E1/2/F1/2/ G2

f. G5:G1/2\F1/2\E1/2\D1/2\ C2
2. Tree Structure:
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3. Encoded in Clay:
a. P1=G1 G2
b. P2= G3G4
c. P3=G5G6
d. GFS=P1P2P3


https://www.lucidchart.com/documents/edit/9553585b-762b-413a-8687-cdec29d12013/0?callback=close&name=docs&callback_type=back&v=283&s=418

